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e — () 91 gl Bl g BTy |

instraction (i} Attempt all questions.

(i) SR # IS mavas A1 R 1E WG B FHIEY DI |

(i} Use diagrams or flowchart if necessary.

(i) 92T HHIPG 23 W 26 OB B WA ARG faded fou v &

(iii} In question Nos. 23 to 26 internal options are given.

(iv) T HHI® 1 W 5 TP AT TeT TR 1 3B AT 7|

(iv) Question nos. 1 to 5 are very short type questions. Each questions carries 1 marks.

(v) 9e HHI®B 06 H 10 Tb TSI YA & | YD U W 2 3 J7efed & | (I
B AYHIH ITE — WA 30 K 7)

(v} Question nos. 6 to 10 are short type questions. Each questions carries 2 marks.[Maximum word limit of
answer 1s 30 words. |

(vi) e HHT® 119 22 TP GSTNT Ue & | Ud Ued IR 3 3@ IeEfed & (SR
P ATHTH T’ — HH 50 TR ©)

(vi} Question nos. 11 to 22 are short answer type questions. Each questions carries 3 marks.[Maximum word
limit of answer 1s 50 words. ]

(vii) T HHIG 23 TP SESANT UeT & | 59 U W 4 3@ IqEed 5 | (SR ot
JATHTH Teg — AT 75 UK T)

(vii} Question nos. 23 1s long answer type questions. this questions carries 4 marks. [Maximum word limit of
answer 18 75 words. |

(viil) T2 HHTH 24 F 26 TH SIESTNIT WeH & | YD Wed IR 5 37d IMefed o |
(FTR @ AfHaH eeg — WHAT 150 6K )

(viii } Question nos.24 to 26 are long answer type questions. Each questions carries 5 marks.[Maximum word
limit of answer is 150 words. |

e 1— 91 B (P Yokl & & &1 AW gy St gard | 9 9ol § Uo aR g
I~ BT 8 P 1

Q.1.- Write the name of a tree belonging to grass species, which blows in once at every 50 to 100 years.

Ye 2— HIGT YA HBY & Pled IR A8 & ITRR A fdd I79] &1 Famor

I B7 1
Q.2.- Which pathogen in Transmitter in the human body on the bite of female anopheles.
UeT 3— HYHE T @ IR &g B 8MM B SUINT &4l § 7 1

Q.3.- Which harmon 1s used in the treatment of diabetic .

e 4— g g o iRifie o= Soor 81 9991 8, 9ag WieT 949d7 &7 1

Q.4.- Which type of pyramid is always errect and have enverted .

YT 5—PhEI1dh Sl D YR ¥ DI—4l IH o< 8l & 7 1

Q.5.- Which gas is releated by the abilation of carbonic rocks.



Ued 6— U OR 9l b o T TP Bl &l &I BRUT (IR | 1+1=2

Q.6.- Amniocentesis is banned . why? write any two main reasons.

ged 7— ORIA B I8 9T S 219 YOGS H ARIEHAT ¥ BT &, Gl YOGS Bl
& 47 BRI &, 39D |l aefr forRay | 141=2

Q.7.- Genetic disorder which takes peace by the addition of chromosomes in 21* chromosome and total
number. of chorosomes is 47 write two characteristios fit .

g 8— SAMYHT q9a & g fogwang ferfkay? 141=2

Q.8.- Write two characteristics of DRyopithecas man.

ged 9— UY Yo | YA B oA arelt Rt # waw [y se- g, <k
17 1+1=2

Q.9.- Which 1s the best method of animal breeding and why used in breeding.

ged 10. 39 GEHoidl & A fokey < M=foriRed SRl & JA|aids Sdg- d

HETIA I & — 141=2
(1) (2) TR a7
Q.10.- Write the name of microbes which help in commercial production of the following.
(1) stanine {2) Buteric Acid

geT 11— TR UG A1 999 H 918G AINTH A0l ], 90T 9 BY D MR TR
R foTRey | 1x3=3

Q.11.- Differentiate between male and female human external sexual characters the heads given points.
Skin, Hair,and Shoulder

yed 12— U 4Ig @ g¥ 9gT BId 8, 9Gi° DIy M DR §adgy | 1x3=3

Q.12.- Generally flowers and multicoloured. why ? write any reason three

Ued 13— TR AYHRE] § 16 [UH Bl © Sled HAIQT FAGE H 32 TUNH B ©
BT IS 7 3

Q.13.- Male honey bee has 16 chromosomes where of female has 32 chromosomes give reasons.

ged 14. Fr=faRed Y T @ol & R R gee o @1 Wi Sifeg | 9@
Siergy U fheiergy Jrgurd | fariRey | 1Y54114=3
ST IR AHE YW (Jg+TT)

Q.14.- Prepare a punnet square on the basis of characters given below. Write genotype and phenotype ratio
too.

Red flower (Dominated) White flower ( Recessive)

UeT 15— HAGII DI IQTER0 S HHASSY ? 3
Q.15.- Explain analogy with examples.

U¥ 16— AFNI® IOl 91 &7 59D Dy gl BT foRgu? 142=3
Q.16.- What is mental disability 7 write its two reasons.



e 17 — IR § 3= gyoHH O 97 g1 B, foilRar 39 few ver a1 9adl
= 3

Q.17.- What is the harm in cattle by interbreeding write how it can stop in cattle.

ged 18— U&H 21 911 & Jad Pl I§ Ul Foidll & (& Sd olidd [Oar Ha1d HAR
J 9% gaP I% Al (oW T B AMER W BN WG B | sHS! e gui Y
HIfTT | 1+2=3

Q.18.- A yong (Youth) of 21 years old came to know that his biological father was sandeep kumar. On what
ground that youth is claming. Describe in brief about the method.

U 19— ST B Us TN NSl BT YR ST & ST Dl o ol UR™NG thar &
guie &wiforg ? 3

Q.19.- Cuscutta (Amerbel) grown over neem plant. describe the personal relation process between them.

Ued 20— QUT! Bl G H P G4 grell Afaerarel ¥ b YR & Yyl 81 &
I USTd Wied Ugyel & A forfeay ? 3

Q.20.- How many types of polulation are created by fire crakers in the festive mood of Diwali. write the
main polution and other polution names.

ge 21, F=forRed o=t & Uy 9 Ol I SEE & A9 foRgu — 1x3=3
(1) foeR 5T & gord, forer # |
(2) SRS & =A@ U |
(3) afferg, @ @13 @ Ut |
Q.21.- Write the names of nationl parks found in the following places.
(1) In palamu district of Bihar State.

(2) Near Nainital of Uttarkand.
(3) Near Chennai in Tamil Naidu.

ge 22— Seligag Uil & O ey arfdqer forfey ? 1x3=3

Q.22.- Write three habetual adaptative features of hydrophyles.

ged 23— TITAY DIRTH BIedl § 61 ToR Tl &, Sam] DIRDl D S TAT.
o &g H&TH o9 @ for @r fhgr o &7 we H wHsgy | 4

Q.23.- D.N.A. can not pass through cell- membrane. what is being done with bacterial cell to accept D.N.A.
Describe in brif.

Ul (oR)
S T B R ©Y ¥ Jad D9 5g Dis IR Uy Ry |

Write any four methods to get free pure D.N.A.




e 24— U&Y GG B AHIfhd NG g ] AN @l us e B
forfaay | 2+3=5
(i) wReiel Bl (i) forfeT Hif¥rerg (iii) SEmaTE®
Q.24.- Draw a labelld sketech of male reproductive system and write one main function of following part.
(i) Sartoli Cells (i1) Leyding cells (iii) Vasdeferens.

31eraT(oR)
UH G O OF B ARG NG g aHR 7 9N @ te e e
Y |

() PIum (i) SToerd (STTeR) (iii) 3USE™
Draw a labelld sketech of female reproductive system and write one main function of following part.
(1) Infunda bulam {(11) Fimbreae (1i1) Ovary

yed 25— BH HadH H G5l $hicdly gEs Hx T 8l ofdelel Sle IR ofdh— SR
SURT BIT &1 T9 T HaEH H oigeiol Sl Ol 8 o — 3R B Al
T 9 PR <1 87 5
Q.25.- In the medium where E. coli was growing lactose was added which indulge the lac operon. Then
why does lae operon shut down some time after addition of lactose in the medium

YT (oR)
AeTd T Widl gNT 30 dlals W 5 T rcwwl gioed @ wanT @
iCERIESRGIEE

write the semi conservative experiment of E.cole conducted by MESELSON and STALL with
diagram.

UTT 26— {Y URFERG GG & MR Sl g, arael, T o1 § oI &, oA
Gerolal Bl YN A & I A9 T8 UG fhdl Up B g9 Bl faaRo
ferfgy 2 5

Q.26.- Name same traditional chattisgarh foods made of wheat rice and gram which invalve the use of
microbes Describe one of them method of its preparation.

37qaT (OR)
fra amer ¥ dddie 3l JINTT e € 599 IN oIvE IR HI faaR
oTRgy ?

In which food would you find lactic acid Bacteria mention any four useful write applications.
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fde — () 91 gl @1 g BT |

Instraction (i} Attempt all questions.

(i) SR # IS maeas A1 R 1Er N\ B FHEY BT |

(i} Use diagrams of flowchart it necessary.

(i) T2 HHIPG 23 W 26 TH & WA AM<ING fdded &y 10 T

(iii} In question Nos. 23 to 26 internal options are given.

(iv) e ¥ 1 ¥ 5 Th TgSwRIg ¥ed WR 1 3fd IfEfcd o |

(iv) Question nos. 1 to 5 are very short type questions. Each questions carries 1 marks.

(v) 9= HHI® 06 § 10 TH ARTAGSTNIG e & | TP YT TR 2 3 3MEled & |
(TR BT ARIHH I6g — HAT 20 I )

(v} Question nos. 6 to 10 are very short type questions. Each questions carries 2 marks.[Maximum word limit
of answer is 30 words. |

(vi) T HHT® 119 22 OF TSI Ue & | Ud Ue IR 3 3fd IMefed & (SR
P ARIHTH TE — HHAT 50 MK B)

(vi} Question nos. 11 to 22 are short answer type questions. Each questions carries 3 marks.[Maximum word
limit of answer 1s 50 words. ]

(vii) T HHIG 23 TH SESOd U & | 59 YT W 4 3@ qEled 5 | (SR ot
JTHTH Teg — AT 75 IR T)

(vii} Question nos. 23 1s long answer type questions. this questions carries 4 marks. [Maximum word limit of
answer 18 75 words. |

(viii) T HATH 24 W 26 TH HSTRIT UeT 8 | TS UeH WX 5 3fd IfMefed o |
(SR @ AHaH Teq — AT 150 6K &)

(viii } Question nos.24 to 26 are long answer type questions. Each questions carries 5 marks.[Maximum word
limit of answer 1s 150 words. ]

U 1— g€ IY § Y8 IO~ DY dlel 987 Bl M [ARIT S @l v e,

61 Ugliedl § Uil orel & 7 1
Q.1.- Write the name of that tree which blooms in every twelve years in the hills of Kerla and Tamil Nadu.
ged 2— HoilvgT A7 # e et gared &1 w9 ¥ g a1 g 87 1

Q.2.- Which toxic substance 1s get free The blood during Malaria discase.

U 3— WYHE W B R vg O §MIE & SUANT 8191 &, $9al AFa T

g @ T forfay | 1
Q.3.- Write the name of man made hormone which is used a dibeitc disecase.
ged 4— fpd gk T @ w& &1 RIS Seer a9 T | 1

Q.4.- Which Eco system of number pryemid in forms in verlid.

Yo 5— SdHe! UG Siared 389 @ oo™ o DIF W A gad 8kl & | 1

Q.5.- Which get in evolned duty the burning of wood of fossi is fuel.



e 6— YR H MTP &I & BT AT 7T &R |l | 141

Q.6.- Why and where MTP is legalized in India.

ged 7— U A9 @1 foir forRay R 22 Aol T Ioga & 919 xxyz Togs 2
g ®, 39 ffor &1 7w faRay | e a8 dfsa 2

Q.7.- Write the sex of human in which XXYZ chromosomes are present with 22 autosomal
Chromosomes.and write in man of the diseases by wich he is suffer.

UeT 8— BHISYaCH UDHH-AE B & W ey [TRag | 141

Q.8.- Wrile two main charateristic of Hemoerector Pekinenses.

U 9— ThHoWT T &7 STHI Tdh A8 [o1gy? 141
Q.9.- What is Scaling write its one importance.

Ueq 10— 3 GeHolal & AW gaigy ol e Sl & rgdidd Seara A

HETTAl B ©7° 141
(1) afT¥feram (2) Fofe ot
Q.10.- Write the name of micro-organisms which help in the commercial producton in the following.
(1) Peniecilam (2) Citric Acid
Ued 11— TRgeAd 9 U4 #adh H Bl il SR [Ty ? 3
Q.11.- Write any three differences between menstaral and oestrus cycle
U9 12— Sl URFTOT g7 RIS el & dis o foemang ferkag? 3

Q.12.- Write any three chareteristes of the flowers which are pollinater by water.

Yeq 13— S1.U9. AN g1 QU TV WEear & waT & diF ey e ? o3

Q.13.- Write any three conclusion of experiment of linkage conducted by T.H. morgan.

yed 14— FolerRae fay Ty ofefoll & ofgR &R geie ¥heR &1 i $ifeg 2
SHGT SIHICSY U BiHersy Jgud i fafay |
Q.14.- Prepare a punnet square on the basis of following characters.

(1) Round seed (Dominats) (2) Wrikled seed ( Recessive)
Write there Genotype and Phenotype ratio.

U3 15— FHSTAA] B IS0 THhY HSSU 7
Q.15.- Explain homologous with examples.

UeT 16— WIS 1Y CIhIhRUl DHdmhd FI A &, $9d al DN ey ? 3
Q.16.- Why National Vaccination Project is important. write its two reasons.

ged 17— Iiq Fex B o9l @) dR[™N @ A o) R o @ 9 o) 1 g9
AN N
qeiT 2 fad=e By ? 3
Q.17.- What will be effect on pea plant in its nodulated roots are destroyed. explain it.




yed 18— fHdl Yol geedl & RM 3 Il g e &t MY & I gs===
A1 ®fS 81 TTT, SH A dheild Bl TH 9T TAT SHDBI qui Al
BTy R Feraar ¥ 896 9 39 a RedeRl & | S 69 | 142

Q.18.- A number of passenger were severely burnt beyond recognition during a train accident name and
describe a modern technique what can help to hand over the dead bodied to their relatives.

yed 19— 3MMfde Uen, 753N & Us ol M@l W I V&l &, 3Mbe R 75 & Us
3 99 IRERG T @ guie Bty ? 3

Q.19.- Orchid plant in growing over the twig of “ MAHUWA Tree ““ explain the natural process between
orchid and mahuwa tree.

ged 20— HoId JTFT US gEa! g g @S9 forigy ? 3
Q.20.- What is Ground water deprectiation and what are effect of this redeprectiation
g 21— T=feiRad w11 # UIg S+ aTel 3RREN & A4 [Ty ? 3
(1) wTRaTaE Rorer # |
(2) TR forer # |

(3) FER— SR f7er # |
Q.21.- Write the name of sanctu found in the following places.
(1) District Gariaband (2) District Baster. (3) District Baloda- Bazar.

Ued 22— Hw&Mg il @ I MM e ey ? 3

Q.22.- Write any three habitate adaptation of xerophytic plants.

U 23— g Urenfrel @ YT § BIfRrer Bl * WeH ¢ ST S|l 8, VT BRe |
Ca++ ¥ UHR FEIAT BT & | 4
QQ.23.- In the experiments of biotechnology the cell is made ~"component” white doing so how Ca++ helps.

Yl (oR)
I U YA H ST wEiE (S T B g forfag ?

Write the role of biolistic of gene-gun in the experiments of biotechnology.

YT 24— Udb YRUGT YT HIY BT A1 el ARG b {1 AN P Ueb YqE D1

ferfg 2 5
(1) sos
(2) fachas o=
(3) wETa® DI
Q.24.- Draw a labeled sktech of mature embryo sac and write one main function the following
(1) Egg (2) Secondary Nucleas (3) Synergids
37T (OR)

UH JN & odad BIC Pl AHIThd ARG A6 7= R BT U6 JHE B
oTRgy |

(1) wRrITer Afers

(2) Al

(3) werTRT
Draw a labeled sketch of longitudinal seation of a flower and write the one main funtion of the

following :-
(1) Pollen- Tube (2) Stigma (3) pollen grain



U 25— Ulel dI1 aTel ofd e (vyTt) BT HHRo 8 ol aTel dd Uiel(yyTt) & &9
R 7 4 (59 geR @ BIFICSY Sl B 3T & S Fdhl o,
ferrforRaa o1 e 1 forfag ? 5
(@) o9 & (@) I =

Q.25.- Which Type of Phenotype generation 1s possible if vellow seed and tall plants and crossed with green

seed and long plant (nyt) . Write their numbers also .
(a)Long green (b) Dwarf green.

Yl (oR)
3] & ®ER a7 0" B, T &1 ®eR o ‘A’ © 3R AT & BER a9 B 3,
STl BT SIHICIgd AT X Ud o779 Hald H UeATferd SiAesy @l S
q |
A child has blood group ‘0’ . if the father has blood group ‘A’ and mother blood group ‘B’ work out
the genotypes of parents and the possible genotypes of their other offsprings.

g 26— fhol UF Bl & FhY [hl &I 99 9d5y, o wr erg araay o
gl & | 5
Q.26.- Name any five hybrid varieties of crop plants which have been developed in India.
3frdr (o)
AT YRS BEdl UK &R & oIy o & gRT IudRT fhd ST+ qred
faft= == & e ¥ Rl |

Write down the various steps which are used by formers to cultivate pest resistance crops.
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